PITT Qube RES-5524LB-AAC-2

Copyright(c) KOSHIN Ltd. All Rights Reserved. 1 2025/01/16 16:59:15



PITT Qube

RES-55241B-AAC-2

No. mE i RE - ME B EM wE
1 027130501 |REL-5524LB -4- 1 127,700
2 027083704  |REL-4024-1 % ¥h1' - HADC 1 30,200
_%270001 EE
3 027004308  |REL-RES 0-) AC7A 1 17,100
4 027001008  |[REL-4024-1 0-3-9+7b %JS o751 |1 18,200
5 027001204  |REL-4024 M2-11 " -84 SCM 1 7,600
6 027006202  |[REL-4024L M1.5X13%  v-%f 35/ SCM 1 7,700
7 027087401  |REL-RES-5524LB M2-44 %" +- 9)23?7087402: 1 12,000
8 027006302  |[REL-4024L M1.5-21 %' ¢- S45C 1 3,500
9 027001804  |REL-4024 M1.25-50 %" +- S45C 1 7,700
10 [027006102 |REL4024L M1.5-46XM1.5-38F1/7 % v S45C 1 8,600
11 027001303  [REL-4024 %" ¥-hn"-n° v4Y N hh-#6500 |1 1,100
12 |027075501 |REL-4024Z5&H 92 OYvh° 1 400
13 |027070101  |REL-4024Z53&H v)3 ZDC+CRivt |1 3,800
14  |027069901 |REL-4024Z5&4vy7° ZDC+CRAv% |1 1,500
15 027076601 |[MREEE > BSM10 1 600
16 |027804902 |[RE Z&7—AfA T—Ligt |1 6,500
17 889855009 [0Yv4" P9 NBR P9 NBR70° |1 200
18 (849805172 [HEWR )V IEY 4x22SUS |1 200
19 027006401 |REL-4024L 35.70 ¥ = #HR Sus 1 400
20 [854505006 | -1-3& No.2 x 3SUS [6 200
21  |027004702 |REL-4024 #&5ARIL b g/l 6x12SU |4 400
22 [927600018  [=-F A 7Yy NKI 17/20 |1 4,700
e

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/16 16:59:15




PITT Qube

RES-55241B-AAC-2

No. mE & - HME B Eff iBE

23 027123301 [[BI YV E#®(620622) 620627 KMT |1 2,100(912706018H#MH
hES

24 (027122801 [FE3I YV E#=(620322) 6203ZZ KMT |1 1,300[912706013E #1118
hES

25 027123001 [EI YV E#=(600372) 6003ZZ KMT |1 1,300(911806013FH it A
hER

26 027122701 [[EI YV E#(620272) 620277 KMT |2 1,100{912706012F #utt A
hES

27 893755194  [#4IhY-Ih TC30458 |1 1,500
NBR

28 (884205076 |[FEiT¥— 7x7x50 |1 1,000

29 027049201 [REL EfT%— 7x7x14 |1 300

30 027049301 [EfT+— 5x5x35. |1 300
5

31 884209041 |[FEi7¥— 5x5x20 |1 200

32 888327030 |[CHIE Xtk EAA30SK |1 200

33 888327020 |[CFLE Xk EA20SK |1 200

34 |888305017 |CFIE X8 B 1 7SUS |2 200

35 854255008  [3-W7y¥v ¢ 8 ¢ 8 5 200

36 734505081  [ARETUERIL b (Iy9e- 1) M8x85SU |4 700
SCS

37 827405020 ["AEF v k M20 1% 500
fSUS

38 [827405006 [RAaF v k M6 1 f&@rh 4 200
SuUS

39 843805006 |[/\RES ¢ 6SUS X5 |4 200
AR

40 844405020 [(US/N\XES $20SUS |1 700

41 027094502 (&R EESTHI -+ SNB-0.4G- |1 16,100
24V 19 395v9F

42 734532042 [NANRNRIL S M5x32SC |3 200
M

43 843822005 |[I\RES 843;}805005: 3 200
Vi

44  |884009167 |[EiT¥— 5x5x8 A1 300

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/16 16:59:15




PITT Qube

RES-55241B-AAC-2

No. mE & - HME B Eff iBE
45 888327014 |CHLE Xk Esmﬁa 14 2 200
K

46 703305124 |[+ZERMAFRNNR IS M6 x6 0SU |4 300
S Y-IWW1Y

47 027072201 |REL-5524LB E#47° V-¥H31-M 0.75x2 1 2,200
300MM

48  |854255006  [-M7vv+ ¢ 6 4 200

49 890155145  [OUv4° S145NBR |1 400

50 703305076 |[+FIUTFRMRIISE M4x12SU |2 200
S

51 944500002 |(FEEMERERT CE-2%#8q |2 200

52 847905077 [7-n°t°y 5x20SUS [1 400

53 027071702 |REL-5524LB 7 b-%in" - 1 2,700

54  |027076405 |RES-5524B IrEIA{K(7° 717-1) HADC-12 |1 31,500
0270073 &
ﬂ

55 027052002 |RES-4024B ITBIA{K/Ry ¥ CR70T=3 |1 2,000

56 027076502  [#EARIL k M12x39 |4 1,100
SuUS

57 027046501 |MAEREESY(C-20) iR 1 3,800

58 827405012 ["&EF v b M121%EH |4 200
SUS

59 843805012 |[/\kES ¢ 12SUS |4 200

60 027051102  |RES-4024B 141592 BSW-330B-3 |1 23,000

61 027114901  [RE 2M9F7° b-In° 9%y EPDME 1 400
T=1.0

62 027098402  [RED-2012H avFhn - SUS304 1 700
T=2.0

63 754905002 |t+ERMAARARIL NOvIv-1K) M4x10 SUS [6 200

64  |024000904 [BL-2512N 4" 30 PBT 1 300

65 027804401 [RES-5524LBEREI— R IA 4x55s gx1 |1 6,100
300MM

66 027804501 |RES-5524LBEJEI1— K4 3B 2x8's g x50 |1 9,700
00MM

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/16 16:59:15




PITT Qube RES-55241B-AAC-2
No. mE i RE - ME B EM wE

67 |708205049 |[+FERMMFNNMXRY 3RELZR g/l 5x20SU [3 200

68  |734505084  |ARATATHRIL b (Iyve- ) |\C/|88x1 00SUS |1 700

69 [027011804  |RES-4024 7-MN -N° 4y N hh-#6500 |1 1,000

71  [854305004 [v—LTvsv— ¢ 4 MESUS |6 300

72 027079701 |RES-5524LB 3-} T LA CR 2 300

73 [027805002 |RE Z&EEM 7—Ligl |1 11,900({13~20

74 |027090701  |RES-4024 Bk 7L — b SPCCT3.2 |1 2,100

75 027114601  |RE 0-h¥vy7° EPDMA 1 1,600

00 [027804601 |RES-5524LBEJRI— K- 3IC 1x5.5s qx5 |1 700
OMM

00 (944500008 |iig#H & (4 Blim iR+ 2 200

00 |027077101 |[iEWEBHEEZRY —7 TM B-5.5 27 |2 200

00 [027136601 [RE-550W A—R> TS5 2 2,100

00 [027131001 [REZS¥RFUVY KO-SP-01-01 2 1,800

00 [027131101 |RE 7°3%#I%" -A_B 2 5,400

00 [027132401 |REL-5524 7%#17 1 36,300

00 [027045901 |[MR % V-2 WFN°-° A OR |1 O|f#F3E : 1500g
5" 4+29)REP1

00 [027095013  |REFNCENIRERBAZ (P LXti%) 1 700

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/16 16:59:15




